SAP ABAP table TKZU2 {Overhead Base Origin}

TOOO
TKZU2-CLIENT = TOO0-MANDT _ _ g -\ |MANDT [CLNT (3)]

- T685
P MANDT [CLNT (3)]
e KVEWE [CHAR (1)]

-7 TKZU2-BKOND = T685-KSCHL _ _- -1 |KAPPL[CHAR (2)]
1 -7 KSCHL [CHAR (4)]

- TKAO1
1~ TKZU2-KOKRS = TKA01-KOKRS 0-N | MANDT [CLNT (3)]

1 " [KOKRS [CHAR (4)]

~

Tt~ TKKH1
0-N TKZU2-BISHRKFT = TKKH1-HRKFT ;3 MANDT [CENT (31
1. S~ """ | KOKRS [CHAR (4)]
N e 0..N [KOATY [CHAR (2)]
. HRKFT [CHAR (4)]

T~ TKZU1l

Te o CLIENT [CLNT (3)]

Tt~ KOKRS [CHAR (4)]

KAPPL [CHAR (2)]

BKOND [CHAR (4)]

KKOMP [NUMC (3)]

ABKOART [CHAR (10)]




